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IBPS RRB PO Pre 2024 Memory Based Paper Based on 3rd August

1st Shift

Directions (1-5): Study the following information carefully and answer the questions given
below:

Fourteen persons sit in two parallel rows. A, B, C, D, E, F, G sit in row-1 facing northand P, Q,R, S, T, U, V
sit in row-2 facing south such that the persons sitting in row-1 faces the persons sitting in row-2.

V is the only immediate neighbour of S. T sits 21d to the left of V. Two persons sit between T and the one
who faces F. A sits exactly between B and C who sits diagonally opposite to R. A does not face V. P faces
D. G faces the one who sits just right of U. E does not face T.

et s #1 sargE® eage fiforg s A= g e et F s dfom|

Hlag AT &l GG IRl H 3581 A, B, C, D, E, F, G Ufth-1 ¥ ITC &l A 4@ #h s P, Q R, S, T, U, V
ufeh-2 § Tferor it 3% @ F0eh 389 TR 85 ¢ 1o dieh-1 § 9% 2T Gxh-2 | 95 ARea1 it e 3799 g

V, S T THHTT Hahead TS gl T, V 3 Tt S gHY TA19 92 937 g1 T 3 a8 Ak o1 F 6l A I &, %

= 27 =3t~ 5 81 B3R CF St 9 § A 9371 2997 €, R F et fadia do1 81 A, V FT 37 37qe T3t
21 P, D T 31 37q@ 21 G, U 31k 374 9 =16 it ¥ 37q@ 2| E, T it ¥ 37q@ 751 2

Q1. Who sits second to the right of the one who faces B?
B o A IwpE =T 3 aTE A gH T T AT A5T 27

(@Pp

(b) Q

()R

(d)s

(e)U

Q2. Four of the following five are alike in a certain way and hence form a group. Which of the
following does not belong to that group?

Fufereg o= § 9 9= v AP al% 9 o o9 € ik mltm s
g F91q &l Merfefea ® 9 19 59 93g 9 g9«iaq a8 87

@V

(b) A

(U

(d) G
) F ALL EXAMS,

ONE SUBSCRIPTION.

Q3. The numbers of persons sit between Q and R is same as
the numbers of persons sit to the left of .
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Q X RF 1 F& =fhal M &&AT, ___ FT2 A & 7wt it deam F awax )
(@) G
(b) D
(U
(dcC
(e)V

Q4.If Uis related to Q in a certain way and B is related to F in the same way, to whom is A related?

7fx U ffea 78% & Q & wefaa § sk St 9 B, F A §&faq 8, v A fray faq grme?

() E
(b) D

(c)B
(d) F

(e)C

Q5. Which of the following statements is true?

FefRfa d s s-ar T T S?

(a) P sits diagonally opposite to F/ P, F & fa#oid: fAadia a1g

(b) More than one person sits between D and G/ D 3fi¥ G & &= U% & S(TIF AR 95 &
(c) P does not sit just left of U/ P, U % 1% a0 A5l ST &

(d) F sits at one of the extreme ends/ F foF€T U& G qT a1 8

(e) None is true / & AT AT A51 &

Directions (6-8): In these questions, relationships between different elements are shown in the
statements. The statements are followed by conclusions. Study the conclusions based on the
given statements and select the appropriate answer:

T I |, T A BN acal & fiw g7 I T &1 AT 5 9= Ao fig g §) R T Fuat F swaw
< fAewut @1 sremae v sie s saewr =9+ fifvg|

Q6.
Statements: P>(Q=Rz25<T U=5>W
Conclusions: I.P>T ILW=<P

FYT:P>Q=R25<TU<S>W
Fed:Le>T ILW<P
(a) If only conclusion [ is true./qﬁﬁﬁﬂ'ﬁ'@ﬁlﬁlw%

(b) If only conclusion I is true./ Tf% Faet A= 11 T %

(c) If either conclusion I or Il is true./ T 3T AT fAewe [ 47 11 77 %*

(d) If neither conclusion I nor Il is true./ AR T AT AT [T ST LI AT ¢
(e) If both conclusions I and II are true./ Tf% Ay [ 3T [ T T &
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Q7.
Statements: M=N<0>G<Q=R S<R=T

Conclusions: . G<T II.G=R

PYTM=N<0>G<Q<RS<R=T

Pt g<T ILG=R
(a) If only conclusion I is true./ 73 Fae Ay [ qe7 &

(b) If only conclusion I is true./ T(% Fae Moy [ T 8

(c) If either conclusion I or Il is true./ X AT AT ASFT [ AT I AT &

(d) If neither conclusion I nor Il is true./ AR T AT HeHFT [T T 1 TA g
(e) If both conclusions I and II are true./ If< AT [ AT I T AT &

Q8.
Statements: B2Cz2D=E>F<G<Y<H
Conclusions: . C< E ILG=D

PYT:BE>2C2D=E>F<G«<¥Y<H
Feed:Lc<E ILG<D
(a) If only conclusion I is true./ 7% Fae Fohy [ HT &

(b) If only conclusion I is true./ TS Faet [T 11 7 8

(c) If either conclusion I or Il is true./ TT< AT AT AFT [ AT I AT &

(d) If neither conclusion I nor Il is true./ AR A AT T [T T 1 T 5
(e) If both conclusions I and II are true./ < Y [ 3 11 T 97 &

Q9. In the number ‘748523971’, how many pairs of the digits have the same number of digits
between them (both forward and backward direction) in the number series?

AT '748523971" |, (i & fha ToH1 & o= (IR 3R i < fRersit /) Saeit &t gy § a7
fier T sfEe ¥ A 32

(a) Four/ =¥

(b) Two/ &T

(c) One/ U=

(d) Three/ =

(e) More than four/ < & 7fers

Directions (10-12): Study the following information carefully and answer the questions given
below:

Q is the only daughter of R who is the mother-in-law of U. S is the paternal grandfather of Q’s nephew. S
has two sons, one daughter and no siblings. X is the sister-in-law of T. U is the mother of Y who is married
male. W is the uncle of T who is not a daughter of V. P is the aunt of V who is sibling of Q and W.
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et s 1 sargEs degge fiforg s 7= g o it F s dfom|
Q R AT AT TAT 2 TAT R, UFT AT B1 S, Q o FNSI/ATS FT ITT | S % 2T T, U T ¢ 3% IS Agras Tal

gl X, T #T Reer-za-at 81 U, Y it A1aT1 & 971 Y Farf2d = 81 W, T T sisher & ToT T, VT T 751 g1 BV
FT 9fie g TAT Q X W T a2e< V Bl

Q10. How is Q related to Y?
Q Y & i yerre wafara 872
(a) Mother/ HTdaT

(b) Aunt/zte

(c) Uncle/3ishet

(d) Mother-in-law/ 918

(e) None of these / T#H & &I A5l

Q11. Which of the following is true?
Feffea # asm-araa 82

(a) V is the daughter of S/ V, ST T=T &

(b) Yisson of X/ Y, X &#T [T &

(c) W is the P’s nephew / W, P &T ASIT/HTSIT &
(d) Sis the U’s father/ S, U T fuar g

(e) All are true / FHT O &

Q12. Four of the following five are alike in a certain way and hence form a group. Which of the
following does not belong to that group?

FRafifea oiw & ¥ 91 o= S % & 7 o € o) saft o a9g a9 6| Fefefaa § @ fasa
g § ga9q el 87

@Y

(b) T

(P

(d)w

(e)S

Directions (13-17): Study the following information carefully to answer the given questions:

Ten persons N, O, B, Q, R, S, T, U, V, and W, are living in a five-story building such as ground floor is
numbered as 1, above it is floor 2 then top floor is numbered as 5. Each of the floors has 2 flats in it viz.
flat-X and flat-Y. Flat-X of floor-2 is immediately above flat-X of floor-1 and immediately below flat-X of
floor-3 and so on. In the same way flat-Y of floor-2 is immediately above flat-Y of floor-1 and immediately
below flat-Y of floor-3 and so on. Flat-X is in west of flat-Y.
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Two floors gap between S and O but both live in different named flat. S lives just below P but not in the
same named flat. O neither lives 4t floor nor 5t floor. V lives in west of T who lives just south-east of N.
U lives just above W’s flat. Q lives north of R.

R T it % ST A F forg Raferfera st 1 saraga s srega= i)

FAATEN,0,P,QR,S, T, U, V &liT W U T HISTAT THILA | T2 g & AT THIXT § YA &l 1 % €T § w1
TFaT T €, 39 ST G 2 8 9T 99 FO 6T T 5 % ®T H RHhG AT AT 1 TeAF Hiorer 9¥ 2
FAC AATA Fefe-X 3T Fefe-Y gl HoA-2 FT Fie-X, Fod-1 o Fofe-X & 31 FT g AT Hiod-3 F Fie-X F
2T A1 g 3 THT TR AR o g1 THT T HIA-2 T Fole-Y, HISA-1 % FAe-Y F 31 39 g TAT Hiord-3 %
FA-Y o ST A1 g 3T TET T AT AT 8| Fofe-X, FAe-Y F afEw | g

S 3% O % 1= <7 WISl T AT g AT IIAT S-S ATH AT FAS § Tgd 81 S, P & SVeh A1 TgaT g ATehe

U ATH a7l Tl | Al Lgdl gl O 7 ar AT Hiore U< @ar g 3T 7 gf =4l Ao e gargl V, T
% ® Ygar g aAT T, N & 31 Ie0-99 § 2aT gl U, W & i< & 31 F9< 18aT gl Q R & IT< H TZar gl

Q13. Who among the following lives in Flat-X of 2nd floor?
fRafafea & @ 9 @8 A4 % ®e-XH '/arg?

(@) P

(b)S

(Vv

(AR

(e) None of these/ T7H | FilE A&l

Q14. Which of the following groups live on an even numbered floor?
FRafriea ® & #i9-a1 994g a9 g&1T areft /o 92 Ear 87

(@)sS, T

()R, U

(©PQ
)V, W

(e) None of these / T7H | &ilE A&l

Q15. In which of the following flat-floor does R lives?
R Rufofea & & frg we # ok e s a2

(a) Flat-Y, Floor 3/ ¥ie- Y, #foret 3
(b) Flat-X, Floor 1/ ¥ie- X, #foret 1
(c) Flat-X, Floor 2/ %t2- X, HToTet 2
(d) Flat-Y, Floor 4/ %e- Y, §foret 4
(e) Flat-Y, Floor 1/ Fe- Y, /ot 1
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Q16. How many floors are between Q and the one who lives just below T’s flat?

Q e =aRe St T e A Y T & i et R &
(a) One/ TH

(b) Three/ =

(c) Two / &1

(d) None / 1€ 72}

(e) None of these / TH | FIs A5l

Q17. Four of the following five are alike in a certain way and hence form a group. Which of the
following does not belong to that group?

fRafefed o= 7 & 9 o R 0% & @ 99 € 3R @i o aug aqm )| Reffea § § s sa
g § ga 19 &l 87

(@Uu

(b) T

(c)S

(dw

(e)O

Q18. If we form a four-letter meaningful word by using the first, second, third and sixth letter
from the left end of the word ‘FELICITOUS’, then which of the following will be the second letter
of the meaningful word thus formed. If more than one word is formed mark Z as your answer. If
no meaningful word is formed, mark X as your answer?

7% 7 ‘FELICITOUS’ 9158 % STU B ¥ TN, gL, TR i S &I T STANT ke AT A T ATAh
% FATA 8, a7 AefeiiEd § & FI9-a7 & T THR a9 91 058 HiT HU HEL gI? I TF F (e
e% A 8, AT Z 1 I ST F 7 A sifoha Q1 7fe FE gl orsg 787 7@t 8, O X Y a1 I/ H
&7 7 3 fifSrg]

(@F

(b) 1

(c)E

()X

(e)Z

Directions (19-22): Answer these questions based on the following information.
In a certain code:

“happy not bad good towards” is coded as - “xa pb ut nq tf”

“good smile sorrow towards” is coded as - “ut tf rd 1k”

“smile happy not sad” is coded as - “pb rd xa zh”

“bad sorrow towards” is coded as - “nq lk ut”
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et st & e aT i F Sae

& fRfaa g 4

“happy not bad good towards” #T - “xa pb ut nq tf” % &9 ¥ Feag FHATTATE
“good smile sorrow towards” FT - “ut tf rd Ik” % €9 § Feag FaT 1T g
“smile happy not sad” T - “pb rd xa zh” & 9 § Feag FHATTATE

“bad sorrow towards” #T - “nq Ik ut” & ¥ H Fedg AT AT g

Q19. What will be the code for “smile” as per the given code language?
&Y T FT WTT F AE “smile” F T Fa =T FRM?

(a) xa

(b) rd

(c)nq

(d) pb

(e) None of these/ TAH | FIs A5l

Q20. What will be the code for “not” as per the given code language?
2T TS FE ATHT F SETE “not” F e Hie .41 gIm?

(a) tf

(b) nq

(c) pb

(d) xa

(e) Either xa or pb/ IT dT xa a7 pb

Q21. Which among the following word is coded as “nq” as per the given code language?
<Y T he WTST % SqETe Awferied & & Fi9-91 055 “ng” F €T H Feag &7

(a) good

(b) sorrow

(c) bad

(d) happy

(e) None of these/ THH & &I AG!

Q22. What will be the possible code for “happy good” as per the given code language?

21 T2 FE AT F ATATR “happy good” F forg dwrfaa g T e
(a) xa tf
(b) rd tf
(c) xa pb
(d) nq lk
(e) Ik zh
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Directions (23-26): In each of the questions below, some statements are given followed by
conclusions/group of conclusions. You have to assume all the statements to be true even if they
seem to be at variance from the commonly known facts and then decide which of the given
conclusions logically follow from the information given in the statements:

= T T w3+ v 7§ Fuw e § e a1 35 Rewd /Aot s ag R @ g1 srasr asft s
T T TTAAT &, TA & F g1 a1 & FH4 weiia gra gt i< fohe a7 v § & R o Aot § & #=-a7
A el § <7 TS ST &7 a1 €9 9 ST LT g

Q23. Statements: Only a few apple is orange.
Some orange is grapes.

No grapes are banana.

Conclusions:

I. Some grapes are not apple.

II. All apple being banana is a possibility.

FI: A g T, A g

Fg A, T B

FIS Ao, FATET Al 2l

A

L. & I8, T Tt &

11, T UCI o FATHT BI 0T TEATAAT 2

(a) If only conclusion I follows./ T2 Faet [Tt [ AL HLAT &
(b) If only conclusion II follows./ 7% #Faer AT 11 STHIOT HLdl g

(c) If either conclusion I or II follows./ T 2T a7 [ 1 AT 11 STHIOT AT g
(d) If neither conclusion I nor II follows./ If< 7 AT AR [ T T 11 AT FAT &
(e) If both conclusions I and II follow./ T AR [ i< 11 11 THLT hld )

Q24. Statements: All cat are dog.
Some dog are not lion.

Only a few tigers are lion.
Conclusions:

[. All cat being lion is a possibility.

[I. All tigers being lion is a possibility.

FI: AT e, ST |
T ST, AAF A5 B

A T TSI, A1 &l

8 I
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Aea:

I oY e o ATAF I T TEATEAT B

11 TY TSI 3 ATAF B il TEATAAT 2

(a) If only conclusion I follows./ T2 Faer e [ ST FAT g

(b) If only conclusion II follows./ 7% Fae At [1 FTEL0T FLAT &

(c) If either conclusion I or II follows./ 7% =T AT fAsh [ 3T I1 TTHTOT FIAT g

(d) If neither conclusion I nor II follows./ If% 7 AT HoRT [ T &1 11 LT FAT &
(e) If both conclusions I and II follow./ 7E et | i< 11 AT ATHLT FXd &

Q25. Statements: Some pen are pencil.
Only pencil are eraser.

No pen are marker.

Conclusions:

I. Some eraser are not marker.

II. Some eraser are marker.

T 5 O, R

A UTeeT, TLAT Bl

FTE I, WIH LT 2

e

1. T T, ATH Al 2l

1137 335, AT 2

(a) If only conclusion I follows./ TTE Faet [T [ SATHAL FLAT &

(b) If only conclusion II follows./ 7% #aer AT 11 STHIOT HLAT g

(c) If either conclusion I or II follows./ TT& 2T AT A [ IT 11 SIE0T AT g
(d) If neither conclusion I nor II follows./ If< 7 AT AR [ T &1 11 LT FAT &
(e) If both conclusions I and II follow./ T AR [ i< 11 11 THLT hld )

Q26. Statements: Some book are not magazine.
Only a few magazine are newspaper.

All newspaper are journal.

Conclusions:

[. All newspaper are Magazine.

[I. All newspaper being book is a possibility.

AT T I, AT 21 2

HAA T A, TAIT &

THT FUI, A |
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Aea:

. Tt =T, HTS(ie 2|

I Fsft =992 3 G5 g ol GHTaT gl

(a) If only conclusion I follows./ T2 Faer e [ ST FLAT g

(b) If only conclusion II follows./ 7% Fae At [1 FLEL0T FLAT &

(c) If either conclusion I or II follows./ 7% IT AT fAsh [ 3T I1 TTHLOT FIAT g

(d) If neither conclusion I nor II follows./ If< 7 AT HohT [ T &1 11 LT FXAT &
(e) If both conclusions I and II follow./ 7E et | i< 11 T ATHLT FXA &

Directions (27-31): Study the following information carefully and answer the questions given
below:

Nine persons A, B, C, D, E, F, G, H, and I were born in different months: January, March, April, May, July,
August, September, October, and December of the same year, but not necessarily in the same order.

C was born in a month with 30 days. There are two persons born between C and I. [ was born
immediately after a month having 31 days. B was born in a month having 30 days. B was born
immediately before H. D was born three persons after F who is not the oldest. A was born four months
before E.

e S #1 ermgE s seaa T i 7= iR 17wt F S i)

AT =I=F A, B, C, D, E, F, G, H 3T | T 70 U gl a9 o A-3TeRT Hgldl SI€- ST, /T4, 5, 7%, AT,
sred, fRawa, st i famvae # ot o, foheq sasae et [+ 361 7 § gom 2Tl

C T ST+ 30 Tt aTer A | o &Ml C =¥ [ 3 &= & =Af<h U&7 gl 1 37 S+ 31 fodT aTef Al & 316 a1
T AT| B &7 ST=w 30 31 a7t 7 H g3 AT| B 1 S+ H & 21 T8 31 AT| D & 77 F & i A T<h 912 gall
T AT F Ha8 92T 75! 5l A 7 S+ E § AT A= T8l g3l Il

Q27. Who among the following was born in August?
FReferfea & & &9 sereq 6 Gar gem an?

(@D

(b)C

() F

(d) G

(e) None of these/ T7H & ®ilE A&l

Q28. How many persons were born between F and 1?

F & 1 % = foraer safxe der g2
(a) Three/ T ALL EXAMS,

(b) Four/ =X ONE SUBSCRIPTION.
(c) Two/ &

(d) One/ T=

(e) None of these / S7H & F< A&l
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Q29. Which of the following statements is true?
Raffea § @ s-ar e I g?

(a) F was born in September/ F &T Stv f&da¥ & gair =
(b) H was born in October/ H T S+ 3Tza¥ | g3 AT
(c) G was born in May/ G T St/q 9= # g3 &I

(d) D was born in December/ D T ST+ fa&a< # garm o1
(e) None is true / FTE st T 751 &

Q30. The numbers of persons born between E and G is same as the numbers of persons born
between and

EfR GHfimderguaafnegi e, e Feft= dar gu aafed it der & aeT gl
(a)A,D
LG
(a)CH
(d)B,A

(e) None of these / T#H & &I A5l

Q31. Who was born two months after E?

E F ST % QT A S1S (el ST gam?
(@) I
(b) B
(c)C
(d)D

(e) None of these / T8 ¥ &ilE Tal

Q32. Find the odd one out?
EEEKECRICEIS ST S e

(a) LRUK
(b) TGJS
(c) UDFT
(d) OKNN
(¢) BPSA

Directions (33-35): Study the given information carefully to answer the given questions.

There are seven persons i.e. A, B, C, D, E, F, and G of different heights. B is taller than D but shorter than
C. F is taller than B, but not the tallest. Only four persons are shorter than G. G is shorter than C. E is
shorter than B, but not the shortest. D is neither the shortest nor 3rd shortest. Third highest person
heightis 170 cm.
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< T TTRT T AT Teqa+ o i faw o w3 s o)

S-S AHITS. o6 |1 A E AATG A, B, C, D, E, F 3% G &1 B, D ¥ @47 g oIfhed CH FleT 5| F, B ¥ AT &, Afehe
A AAT el gl FAA AL ATH G F Fle 8l G, C HFeT 81 E, B F BT 8, Tehe 9ad Bl Tai gl D 7 af qa4
TIET g 3T T g AT T BT gl AL TaH ATer o 1<kl dars 170 FHT B

Q33. Who among the following is the fourth shortest person?

fRafrfea & & st qe@ Ser e w2

(a) F
(b) D

(c)B
(dG

(e) None of these T H FilE Aal

Q34. If the F’s height is 50cm more than G and the difference of height between E and F is 100cm
then what is the possible height of B?

a3 Ffr FATE, G F1 531 & 50 T 1faew § 7 E i F i S F i %7 siqx 100 ¥+ g a1 B Fr gwfaa
SATS FATZEN?

(a) 174cm/174 &+t

(b) 118cm/118 HHT

(c) 180cm/180 HHT

(d) 135cm/135 |HT

(e) 119cm/1198HT

Q35. How many persons shorter than the one who is just taller than E?

E & 315 @ At 9 fhaq safe G 82
(a) Three/ T

(b) One/t=

(c) None/ FT< T5t

(d) Two/ =T

(e) None of these/ T7H & ®lE Tgl

Directions (36-40): Study the following information carefully and answer the questions given
below.

Seven persons M, N, O, P, Q, R, and S sit in a row and all of them face towards the north direction. Each
of them likes different fruits viz. Apple, Banana, Mango, Orange, Grapes, Pineapple, and Watermelon. All
the information is not necessarily in the same order.
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R sits third to the right of O who likes Mango. R sits second to the left of Q. The one who likes Banana
sits at one of the extreme ends of the row. P sits third to the right of the one who likes Grapes. Only two
person sits between N and Q. R doesn’t like Watermelon. S sits fourth to the left of R. The one who likes
Apple sits second to the right of N who likes neither Watermelon nor Pineapple. Q doesn’t sit to the right
of the one who likes Banana.

Raferfea s 1 sargEs degge fiforg s A= g o it F s dfom

AT ARE M, N, O, P, Q R, 3% S UH 4Tk H o5 g 3T AT T & I [T T AT g1 ITH | T Tl AT -3
A STH U, HeAT, ATH, HALT, ST, AT AT TGS THE 8| TRl Al 1o THT SATAHRT SHT 77 | gl

R, O % TTE 3 THEL AT 9T 93T g TAT O Fl W T89S gl R, Q & dTE AT THL TITH UL §3T 5| HeAT THE FHeed
FTAT AT<h GT<F o el T BT 9 93T gl P, ST THE Tl Aol STk o &8 A | T T 93T g1 N 3w Q
& T haol & AT 9 5| R F TS T69E Aol g1 S, R TS 3T A1 TATH UL 93T g| Hal THE el ATAT A T<H,
N % 3T 3T TAL TATH 9 93T g AT N Fl T T TS AT 7 gl A= THE gl Q, FicAT THE il ATl AT<h
=TT AT 27 2

Q36. Which of the following fruit does P like?

P &t Referfea ®§ & #19-91 we Teg 872

(a) Banana/ T

(b) Pineapple/ SATATH

(c) Apple/ &=

(d) Grapes/ 3T

(e) None of these/ TAH | FIs Ag!

Q37. Who among the following likes Watermelon?
e & 9 e a@s M |?

(@) S

(b) M

(@Q

(d) P

(e) None of these/ THH & &I AG!

Q38. Which of the following pair sit at the extreme ends?
Rufafag § a aa-ar pa v g S g?

(a)M, N

(b)QP

(c)QN

(dMQ

(e) None of these/ TAH T FS vT@
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Q39. Which of the following is true?
I. P sits 2nd to the right of the one who likes mango
II. O and M are immediate neighbours
[11. S sits 2nd to the left of the one who likes Grapes

FeffRT A v s-aT T T §?

L. P, (¥ T8 T Tl SAT<h % 215 A gAY &I T 3T 8
I1. 0 3T M fAsheaw 9=t 8

I11. S, 3R THE T AT SAT<h & aATs AT AL T TWAST &

(a) Only I/ Faet |

(b) Both Il and 11/ II &< 111 =TT
(c) Only 111/ &< 111

(d) Both I and II/ I 3 11 =1
(e) Only II/ Fa< II

Q40. What is the position of the one who likes Apple to the one who likes Banana?

HAT THE FLA AT AT A YT TS FLA A S T<h T SATT FAT &2
(a) 27 to the right/ ITE 3T TAIT

(b) Immediate right / 1% a0

(c) 4" to the right / &S 3T =TAT

(d) 2nd to the left / ATE 3T TALT

(e) Immediate left/ 1% aTd

Directions (41-46): What will come in the place of question mark in the following number series.

o dear sear & wrar=s e & s 9 /4w s

Q41.361, ?, 920, 1045, 1109, 1136
(a) 873
(b) 1090
(c) 486
(d) 704
(e) 1361

Q42.100, 83, 70, 59, 52, ?
(a) 47
(b) 43
(c) 45
(d) 41
(e) 40
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Q43. 14, ?, 29, 49, 89, 169
(a) 24
(b) 17
(c)19
(d) 27
(e) 18

Q44.2.5, 15, 75, 300, ?, 1800
(a) 900

(b) 450

(c) 600

(d) 150

(e) 1200

Q45.10, 11, 24, 75, 2, 1525
(a) 300
(b) 304
(c) 302
(d) 306
(e) 310

Q46.64, 102, 159, 235, 7, 444
(a) 330
(b) 320
(c) 350
(d) 300
(e) 360

Directions (47-52): The pie chart (I) shows the percentage distribution of total number of orders
delivered by Twiggy and Xomato together in four different days. The pie chart (II) shows
percentage distribution of total number of orders delivered by Twiggy in these days. Read the
following pie charts carefully and answer the questions given below.

(1) Total orders (11) Total orders
delivered by Twiggy delivered by Twiggy
and Xomato together =540
=720
m Thursday
m Thursday m Friday
= Friday m Saturday

m Saturda
L Sunday

Sunday

15 |


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

i

qTe ATE (1) AT FAT-31eT faai # fRanft sie e grar wa |y fReftax frg o site< i 3ot de v wfasa
feraor gatar g1 arg = (1) 3 R # Reanft g fRefrax g wrw stz it e d@at v wftsra faawor gafar
gl Ruferera e 91 it &1 8 a8 s = R e i F s

(1) efah 3 FeY qam (n) efeh garr Rt
s |y fR2feer e e fFw 1w Fa 37T = 540
Fa AET = 720

25%

45%

Q47. Total number of orders delivered by Xomato on Monday is 25% more than the total number
of orders delivered by Twiggy on Thursday. If the average number of orders delivered by Xomato
on Monday and Tuesday together is 95, then find the total number of orders delivered by Xomato
on Tuesday?

HIHETR AT ST 1T Reftax g 1w siix it 5o g, A & ety g Refiax g g sise & 3o
T&AT ¥ 25% SAT8F gl TR TIHAT ST HIAET il SRl gy R*eftax vy 1 i< #ir sitea 9&ar 95 §, ar

HITAATL HT AR FIRT R 1a< fhT 1T i< it Fot g A1a Hiforg|
(a) 45
(b) 55
() 35
(d) 65
(e) 75

Q48. Total number of orders delivered by Xomato on Saturday and Thursday together is what
percentage more or less than the total number of orders delivered by Twiggy on Thursday?

AT SR IR & AT e g fectiax g g st i per g, peare it Rasfi grar fesfex fang

T ASU it ot GeAT & Fohar widera sfaw arwm 62
(a) 45%
(b) 20%
(c) 35%
(d) 15%
(e) 25%
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Q49. On Sunday, 60% and 5/9t of the total orders delivered by Twiggy and Xomato are returned
by the customers respectively, then find the difference between the actual number of orders
delivered by Xomato and Twiggy on Sunday (actual numbers of orders means all orders which
didn’t return)?

TRa #Y, Raft siw stiter g Refiax g 1o o ST & & FH: 60% X 5/997 ATgh! g1 9799 ¢
ST &, FRe e & e sie RanfY grar fRsfiax forg 7o i€ i ameafarss et & i siae ama fifvg

(ST it FrEafas® G&ar F1 ool § F Toft SiST S a9 7l Y)?
(a) 34
(b) 16
(c) 28
(d) 42
(e) 24

Q50. The total number of orders delivered by Twiggy and Xomato together on Monday are 38
less than that of on Saturday. If the average number of orders delivered by Xomato on Monday
and Wednesday is 80 and the total number of orders delivered by Twiggy and Xomato on
Wednesday is in the ratio of 1:4, respectively, then find the total number of orders delivered by
Xomato on Monday.

HHETR Fi Raeft 3 T g us are Reftax forg 1 st i g g, affam it Rasfy siw s s
T Ty fRefia frg g AT it o dear & 38 9 Bl AR FHaTe X gEa i el g R g g
AST i SAraa §&AT 80 7 I FHAT AT AT < ArHET 1T fRefia< g 1T AT it Tt d&ar F#AA: 1:4 F
AUTA | &, AT AT I TS G =A< g 14 sii<x it o1 gear Ara )

(a) 40

(b) 25

(c) Can’t be determined / fF&TRa gt AT SIT THaT §

(d) 90

(e) None of these / T7H & FIS ol

Q51. Find the ratio between the total number of orders delivered by Twiggy on Thursday and
Sunday together and the total number of orders delivered by Xomato on Friday and Saturday
together.

TRAT S a1 U a1 Ranft gy fefiaw v 1o sits < it ot | i e ik arffae ot e

T g e g w1 sttt Y o Tt % = srqama sra fifvrw
(a) 26:11
(b) 27:13
(c) 27:11
(d) 27:14
() 21:19
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Q52. If 7/12t of the total number of orders delivered by Twiggy in day shift on Thursday and
25% of the total number of orders delivered by Xomato in night shift on Thursday, then find the
difference between the total number of orders delivered by Xomato and Twiggy in night shift on
Thursday is what percentage of the total number of orders delivered by Twiggy and Xomato
together on Sunday?

7t TeaR # e i foree § Raehy grar R forw srw g i€ i dear 1 7/12a1 W1 iR Tae Y O
FI fare & sttt g RRehiax fre 1o 3o st it ST &7 25% &, AT a1 H7 Ta i fA7e § ey six
et grar Refe fane w1 et ST 3 oftr =7 e, TRam Y Ranfy i ey g1 o amer Rsfrax frg
T ASU T FAT T Fhar wfaera g2

(a) 10%

(b) 15%

(c) 25%

(d) 30%

() 20%

Directions (53-58): The table shows the total songs (cultural and modern) download by two
persons (A and B) in Quarter 1 and Quarter 2. The table also shows the ratio of cultural and
modern songs download by these persons in the given quarters. Read the following table
carefully and answer the questions given below.

A B
Quarters Total Ratio of Quarters Total Ratio of
songs cultural to songs cultural to
download modern download modern
songs songs
download download
Quarterl 65 5:8 Quarterl 55 5:6
Quarter2 80 3:5 Quarter2 a0 2:3

qrfereT § ST ARAAT (A S B) T fawmet 1 3= RAATET 2 # sTeaere oy T a1 T (Fiesias i g )
IATTIY §l TR | ¥ 7%, [Tl § S ARl g0 SIS [ T Aieahiaeh i< g A Aral &7 sTqara
+fT gertaT T ) Faferfera arferst 1 seamgds Teaae i3 i A fQw 17 it 6 S e

A B
ﬁmwﬂ; mﬁm
LY
R i | e
EiRE IS EiRE IS
Y BT kol
STUTd STUTd
femret 1 65 5:8 et 1 55 5:6
fomret 2 80 3:5 gt 2 90 2:3
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Q53. Find the ratio of the cultural songs download by A in quarter 2 to the modern songs
download by B in quarter 1.

TR 2 # A g0 ereAwe ¥ ru wiepias Mt 1 fiamdr 1 7 B g seaare e 1w segfae far &

AT ST T
(a) 1:2
(b) 1:1
(c)2:1
(d) 1:3
(e) 3:1

Q54. The total songs download by C in quarter 1 are 60% more than the modern songs download
by B in quarter 1. If the cultural songs download by C in quarter 1 are 20% less than those of A,
then find the modern songs download by C in quarter 1 is how many more or less than the
cultural songs download by A in quarter 2.

TR 1§ C 3 TRAale fhu T ot T fAwmet 1§ B gy ereae fahg 1 sy fAeh et & 60% stfer
gl Ife foaTEt 1§ ¢ g sreaee e T aiesfas T, A g7 SeAale fhT 10 giegias T i goer J
20% F7 &, T fAuTEt 19 € 3T Seare g T srgfae e, fawmet 2 9 A gy stsaee g o qiesfa®
T & e STfersh a1 9 g

(@)3

(b) 5

(c) 4

(d)1

(e) 2

Q55. The total songs download by A in quarter 3 and quarter 2 are in the ratio of 11:16,
respectively. If the average cultural song downloads by A in quarter 1 and quarter 3 is 24, then
the modern song download by A in quarter 3 is what percentage of the total song download by B
in quarter 2 (approx.)?

TRl 3 ST AWTRT 2 # A ST SSAdIE (T 7T FF I FA: 11 : 16 F JqUTd A g AT fqwmar 1 i
fTEr 3 & A g7 Siraa giepias T SeAale 24 €, dF st 3 7 A g steAare Ry g sy Ren e,
fAWTET 2 ¥ B 5101 S=AAIE fohT 1T a1 11 7 fova=T wiarera € (SRTT)?

(a) 43%

(b) 39%

(€) 31%

(d) 36%

(e) 26%

Q56. Find the difference between the average modern songs download by B in quarter 1 and
quarter 2 and the cultural songs download by A in quarter 2.
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R 1 3% /=TS 2 # B g ersAene e T shera s e siie faamat 2 § A g ssAeE fhr
TTEH T T & ST SAqC AT T

(a) 12

(b) 10

(c) 4
(d) 16

(e) 8

Q57. Total romantic songs download by A in quarters 1 and 2 is X+8 and X-5 respectively. If the
total songs (cultural and modern) download by A in quarter 2 is three less than the total
romantic songs download by A in quarters 1 & 2, then find the value of X.

TR 1 3% 2 § A g0 STSAee fhT 1T Fr AT T FHLC: X+8 ;T X-5 g I fwmdr 2 4 A gy

SRS fHFT T For T (FiEFAT o7 argfA) R 187 2 § A g7 S R U e Qwifes
T & A FT G, A X FT AT 7T H 2

(a) 50

(b) 35

(c) 20

(d) 25

(e) 40

Q58. Total modern songs download by B in quarter 1 is how much percentage more or less than
the total modern songs download by A in quarter 2?

TR 1 § B 5T SeAIE 3T T et stregfaen T, [ATer 2 # A ST STSAIS [ohT T Fo g e I |
e wiaera AfaF AT FA 52

(@) 25%

(b) 40%

(c) 32.5%

(d) 33.33%

(e) 16.67%

Directions (59-64): What approximate value should come in the place of questions (?) mark in
the following questions.

FRafcfEa i § wrEmEs Few (2) F =W 9 w11 agETHT 9 a9 iee?

164.89
Q59. 1093
(a) 142
(b) 92
(c) 112
(d) 122
(e) 102

+32.07 =169.03 -7
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Q60. 2.99 x 15.99 + 3.99 x23.04=99.93 +?
(a) 40
(b) 50
(c)30
(d) 25
(e) 60

639,98 _
100.02

61 v720.003 + §80.002 X 7

(a) 256
(b) 216
(c) 312
(d) 196
(e) 156

6559947

Q62. 42.003
(a) 196
(b) 316
(c) 256
(d) 412
(e) 386

% 20.97 = 520.87

824993

24,990

=7+ 102.001

941.980 -
Q63.

(a) 807
(b) 897
(c) 717
(d) 568
(e) 348

108.01 2213998 _

Q64_. 15.99 13.006
(a) 164
(b) 194
(c) 184
(d) 224
(e) 284

?

ALL EXAMS,
ONE SUBSCRIPTION.

Directions (65-66): Read the information carefully and answer the questions carefully.

There are three institutions A, B, C in which some students (boys and girls) and B has 36 boys. The
difference between the number of boys in A and B equals to the difference of number of boys in A and
C. The number of boys in School C is greater than the number of boys in School A. The respective number
of girls in Schools A, B, and C are consecutive multiples of 4. The total number of students in School A is
40. The total number of students in School C is 56.(Note: A has least number of boys)
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&Y T SITHHTE T EATTIS F AT FY 3T T 3 I

A "I A, B, C & FO9H Fm w1 (S e A=) 8 siv B # 36 @ 21 A 3fi¥ B § =i it 94T %
F1= T (AT A T CH AZHI il AT o (AT o I gl TFA CH AZHI il HCAT Thed AH AZHI il AT F
STfer g1 Tt A, B 3l C & STt it Fwer: §eaT 4 F w0 0T S| ¥t A § T 67 et 6eAT 40 3| TFA
C H Tt 1 FT TEAT 56 gl (ATe: A H AZH! T HEAT T FH 3)

Q65. What is the number of boys in School A?
T A H ASHI Y g a2

(a) 22

(b) 28

(c) 24

(d) 20

(e) 26

Q66. What are the total numbers of girls in Schools A, B, and C together?
T A, B 3l C H TF 919 asf¥l i Fo g faer &2

(a) 40

(b) 44

(c) 46

(d) 48

(e) 42

Q67. A and B together complete a work in 6 days. If time required to complete 90% of work by A
is equal to time required to complete 60% of work by of B, then find the time taken by A to
complete 50% of the same work?

A T B i< et 1 7 6 el § 70 #:%a g1 I A §1RT 90% F1H I F3A | &9 a1T 997 B g
60% FTH T FIA | T a1 THT & T g, AT A TIRT I FTH &1 50% T FIA § W A17 TR/ 1T

Hiform

(a) 7.5 days/7.5 &=

(b) 10 days/10 fa=

(c) 5 days/5 fa=

(d) 6 days/6 fa=

(e) 12 days/12 f&=

Q68. A invested Rs P atrate of 5% p.a. for two years on simple interest and B invested Rs P+1000

at rate of 10% p.a. for three years on simple interest. If the difference between interest received
by A and B is Rs 1300, then find the value of P (in Rs.)
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A T ITYTIOT TS YR &7 99 & T 5% Iia a5 it X & P ¥ &7 A9 a7 i B 3 aremor sars 92 a9
T F forw 10% 7 o i 2T 7 P+1000 T3 &7 e fram af A =ik B g=r wmw s % i v SR
1300 93 g, AT P T AT (T4 F) 717 Hifvrw

(a) 4000

(b) 7500

(c) 10000

(d) 5000

(e) 8000

Q69. A and B entered into a business and invested in the ratio of 3: 5 respectively. After 6 months,
C also joined with investment of three times of investment of B. At the end of a year, then total
profit was Rs 6200. Find the profit share of A?

A T B A TF AT § TA AT T FHer: 3 1 5 F Srqura & fAaer fFFam 6 wgiv 9%, Cft BF R Fdi=

AT R3er 3 9T TR BY AT TH A F AT H, T ATH 6200 TG AqTI A F 77 e sra ffvm?
(a) 1200 Rs /1200 &9
(b) 2000 Rs /2000 &9
(c) 3000 Rs /3000 &7
(d) 1000 Rs /1000 =7
(e) 1500 Rs/1500 =92

Q70. Rima spends 25% of his monthly salary on grocery, 10% of remaining salary on house rent
and 40% on education. If she invests remaining amount of Rs 18000 in FD, then find the monthly
salary of Rima?

T 37 AR A9 T 25% FOa 9%, AT 37T FT 10% =X 3 HF0T 92 3% 40% a7 e it g1 T

I8 AT 18000 TIY THST # A FLAT 8, AT GHT =1 AT{™F Fa+ 710 hiforg?
(a) 36000 Rs / 36000 =7
(b) 48000 Rs / 48000 &9
(c) 40000 Rs / 40000 &7
(d) 54000 Rs / 54000 &9
(e) 30000 Rs / 30000 =7

Q71. In a class there are 300 boys and 120 girls, while the number of failed boys and girls are
equal. If passed boys are 180% more than passed girls, then find the number of passed students
(boys & girls) in the class?

T T H 300 9% 3T 120 w=faat &, Srafh gl = i< wsfaat it dear sue ) af st @i,

I ASTHAT & 180% ATEF &, T FLATH IATV SIAT (ASH AL ASTHAT) ol G&AT ATA HITS(T?
(a) 380
(b) 360
(c) 329
(d) 240
(e) 400
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Q72. The length of base of a right angle triangle equal to length of a rectangle which breadth is
70 cm. If the height of the triangle is 24 cm and area of the rectangle is 1400 square cm, then find
the area of the right angle triangle (in square cm)?

T GHHRIVT FIY[ST 36 ST it AaTS U A it dars 3 qa g e =ers 70 ¥t g1 afk B fir =
24 Y § Sl AT FT &ABA 1400 T FHT g, TT THEHIOT ST 7 &=t (1 G471 /) 707 Morg?

(a) 480

(b) 160

(c) 180

(d) 240

(e) 300

Q73. If the sum of 80% of x & 60% of y is 540 and the sum of x and y is 775, then find x’?
7 x FT 80% 3T y FT 60% FT TNT 540 § TAT x 3 y FT AT 775 §, AT "X ATq Hfora?

(a) 375

(b) 400

(c) 325

(d) 450

(e) 300

Q74. An article is mark up 30% above its cost price and it sold at 10% discount. If profit received
on the article is Rs 204, then find the selling price when the same article is sold at profit of 10%?

T FE I S FT 7T 30% STTAh o7 I b 3T T 9T T 10% e T 397 1347 I T8 T IH

AT 204 T §, AT I T8 ¥ 10% ATH 9 I=+ 9% s gog 71q Hifor)
(a) 1280 Rs /1280 ®9F
(b) 1360 Rs / 1360 9%
(c) 1240 Rs / 1240 =9x
(d) 1320 Rs / 1320 =77
(e) 1420 Rs /1420 &9

Q75. The time taken by a boat to cover 1.2D km upstream is two times of the time taken by the
boat to cover D km downstream. If the difference between upstream and downstream speed of
the boat is 6 km/hr, then find the speed of the boat in still water?

T A9 §T a1 & Tfage 1.2D Bt it o a3 e § foram 3 aw, 91 g1 &< & s D Bt v gl
TT HA § T T qH 7 Q4 IAT 81 I A7 b &7 3 WiTet S &1 o6 SIqaet Tl o o1 0T Sia< 6 FrHT /5ieT
2, A &t Stet ® A1e it rfar e g ?

(@6
(b) 8
(c) 16
(d)12
(e) 14
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Q76. A present age is 4/5™ of B present age while age of B after 5 years will be equal to twice the
present age of C. If the sum of ages of all three is 37 years, then find the present age (in years) of
A?

A FY 9T g B A TIAT 1Y F7 4/577 § FafF 5 q9 q1€ B HT 31 € TIAT 30 F IR F TG
gRft afe AT g w1 A1 37 9 §, I A F adw0T oy (9 /) ;19 oy

(a) 15

(b) 10

(c)12

(d) 17

(e) 20

Q77. A vessel contains 112 liters mixture of milk and water in which water is 28 liters. 32 liters
of mixture taken out from the vessel and 12 liters milk added in the remaining mixture. Find
quantity of milk is what percent more of quantity of water in the resultant mixture?

T qd9 § gF 3 qIHT HT 112 e fFsyor g ™rad aret 28 e 81 ad+ & 32 e frsror Rawrer forgr strar
g ST AW frsror # 12 Sfex gy At faar srar g1 ot frsor & g it /s are S | @ e e

aferF g7

(a) 360%
(b) 260%
(c) 200%
(d) 320%
() 280%

Q78.180 meters long train A crosses train B having length of 120 meters and running in opposite
direction in % seconds. If speed of train A is 6 /5 of the speed of train B, then find the time taken
by both trains to cross each other, when they running in same direction?

180 e et 37 A, 120 Hiex eft ofix R R & w1 W 37 BAY I e & Al 11 AR T AR
A 3 Bt T T 6/5aT AT §, QT M1 A1 g1 TH-gA< &l T FLA | G747 99 F1q HIog, 5 F
T o feem § =« W &7

(a) 60 sec/60 TFHE

(b) 58 sec/58 HFHE
(c) 55 sec/55 ¥HE
(d) 50 sec/50 HFHE
(e) 65 sec /65 TFHE

Q79. First train starts from station A at 6 am and reaches station B at 4 pm and second train
started from B at 7 am and reaches A at 3 pm. Then, find the time at which both the trains meet
each other.

25 |


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

i

TEAT 27 g 6 T CAT A & LE AT § ST <TTH 4 T €29 B U IAAT 3 ST T A galg 7 T B & L
BT § ST TTEL 3 T A T TETAN Bl TV, T THT 1T < O T AT 24 T A< o A=t g

(@) 11: 10 am /g 11: 10 T

(b) 11: 05 am / gag 11: 05 asT

(c) 11: 00 am / &g 11: 00 &=

(d) 10: 55 am / &g 10: 55 asF

(e) 10: 50 am / &g 10:50 =T

Q80. The average marks of Bunty, Shunty & Chunky in an exam is 90 while that of Dumpty is 20%
more marks than of Shunty. If average marks of Bunty & Chunky is 95. Find average marks of all
four.

T T4ET & ST, AT S = F i siwh 90 § ST ST 3 3 A4 °F 3% ¥ 20% AT+ g A FE s =i
¥ Sl & 95 §1 T F SfEd 3 AT Hiforg)

(a)91.5

(b)93.5

(c) 88.5

(d) 90

(e) 95
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$1. Ans.(b)

Sol.
s Vv Q T U P R
| 1 i
I | | T

ufeq-2

S2. Ans.(e)
Sol.

—t tfe-1

S3.Ans.(a)
Sol.

S4. Ans.(c)

Sol.

s v Q@ T U P R
L L1
| L L]

——t—t——4—1 ufa-1
c E A G B D F
TEAT ST<h, THL F<h & ATe AT AL T T IST g
S5. Ans.(d)
Sol.
s VvV Q@ T U P R
1+ dfFa-2
——t—t——4—1 ufa-1
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$6. Ans.(b)
Sol..P>T (38) IL.W<P(HJ)

S$7.Ans.(a)
Sol.I. G<T(HA) IL.G=R (39A)

$8. Ans.(d)
Sol. . C<E (3\™) II.G<D (3HA)

S9. Ans.(d)

Sol.
n

748523971

L ]

$10. Ans.(b)
Sol.

P(-)=——R(-)

U(-)=V(+)=—Q(-) = W(+)

S(+)

T(+) ==Y (+)==X(-)

$11. Ans.(c)
Sol.

P(-)—R(")

U(-)=V(+)=—Q(-) =—— W(+)

S(+)

T(+) =—=Y(+)==X(-)

$12. Ans.(c)
Sol.

P(-)=——R(-)

U(-)=V(+)=—Q(-) = W(+)

S(+)

T(+) —Y(+)=X(")
P T ZIEa THT 27
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$13. Ans.(c)
Sol.
ﬁ'ﬁlﬂ' e -X T -Y
5 Q P
2 v T
1 R 5
S14. Ans.(a)
Sol.
'Fif_:'lﬂ' e -X T -Y
5 Q P
3 M W
2 v T
1 n 5
$15. Ans.(b)
Sol.
ﬁﬁ_ﬂﬂ' Lﬁ'c’ -X ﬁa‘ Y
5 Q P
4 5 U
3 N W
2 v T
1 R 5
$16. Ans.(b)
Sol.
ﬁ'ﬁ;‘ﬁl’ e -X T=e-Y
5 Q P
3 N W
2 v T
1 = 5
$17. Ans.(c)
Sol.
'Fiﬁllﬂ' TIE -X e -Y
5 Q P
4 s U
2 vV T
1 R 5

S T FIEHT TN FAe-Y § T2d 3
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$18. Ans.(e)
Sol. T & Ters AT 9% ad g

$19. Ans.(b)
Sol.
e <
Happy/not Xa/phb
Bad Ng
Good Tf
Towards Ut
Smile Rd
Sorrow Lk
Sad Zh

2T TS SATHHTLT &, "smile” T " rd " % T | Fedg 77 TIT B

$20. Ans.(e)
Sol.
RICH $<
Happy/not Xa/pb
Bad Ng
Good Tf
Towards Ut
Smile Rd
SoTTOW Lk
Sad Zh

HEESIGEIR K "not"ﬁxaﬂpb%@ﬁwmw%l

$21. Ans.(c)
Sol.
Teq FC
Happy/not Xa/pb

Bad Ng
Good Tf
Towards Ut
Smile Rd
Sorrow Lk
Sad Zh

2T IS ST ¥, "bad” FT "'ng" & T H Fedg AT TAT 5l
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S22. Ans.(a)
Sol.
TMeq e
Happy /mot Xa/pb
Bad Ng
Good Tf
Towards Ut
Smile Rd
Sorrow Lk
Sad 7h

“happy good” ¥ forT H9Tfad %iT “xa tf” 2|

$23. Ans.(b)

(= )

S24. Ans.(a)
Sol.

S25. Ans.(a)
Sol.
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S26. Ans.(b)
Sol.

S$27. Ans.(e)
Sol.
TeH At
EREE A
o F
E C
T E
Sels D
HIET I
R B
Hag s H
[RIER G
$28. Ans.(a)
Sol.
e e
EREE A
o F
EG] C
T E
Sl D
ST I
R B
Hagal H
[[RSER G



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

A

Addal24

GET IT ON
Google Play

$29. Ans.(b)
Sol.

e

ECCEl

o
o

e
ey
ST

[EALSES
T
g

m:::u-—-l:lmnﬂ:m-%

$30. Ans.(c)
Sol.

it

o

AT

W
S
HITE]

v

Slage]
fegR

m::m-—-l:lmn'ij:n-%

$31. Ans.(d)
Sol.

A

ol

AU

o
s
S

m:l::m-—-':'mn‘nb%

ALL EXAMS,
ONE SUBSCRIPTION.
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$32. Ans.(c)
Sol. TaFeT () FT BTEHT =T THT THT T T AT FLd g
+3

£1

LRUK

N

-1

$33. Ans.(c)
Sol.C>F>G (170 &H1)>B>E>D>A

S$34. Ans.(d)
Sol.C>F>G (170 %H1)>B>E>D>A

$35. Ans.(a)
Sol. C>F>G (170 9H1)>B>E>D>A

$36. Ans.(c)
Sol.

5 o ™M
| | |
WRYE oMM AR Haggr FHEN dF e

$37. Ans.(a)
Sol.
s 0 M N R P Q
| | | | | I I
W AWM R gy AN T Hey
$38. Ans.(e)
Sol.
s 0 M N R P Q
| | | | | I I
W AW AR gy AN AT e
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$39. Ans.(b)
Sol.

N R P Q

| | I I

5 o M
| | |
W oMH R

$40. Ans.(e)
Sol.

HaRT AT dF e

N R P Q

| | I I

5 0 M
| I |
WS W AR

S$41. Ans.(d)
Sol. =@ T e TH THE 2 -

361 +73=704
704 + 63 =920
920 +53=1045
1045 +43=1109
1109 +33=1136

S$42. Ans.(a)
Sol. =@ &1 Jedd Tq TH & -

100-17 =83
83-13=70
70-11=159
59-7=>52
52-5=47

$43. Ans.(c)
Sol. @1 T Jed TH THE B -

14+5=19
19 +10 =29
29+20=49
49 +40 =89
89 +80 =169

HoRr SFTHAN dF dan
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S44. Ans.(a)
Sol. FEAT & Ted T8 THL g -

2.5x6=15

15 x5=75

75 x 4 =300
300 x3=900
900 x 2 = 1800

$45. Ans.(b)
Sol. &= T U TH THL g -

10x1+1=11

11 x2 + 2=24

24 x3+ 3=75
75x4 + 4=304
304 x5 + 5=1525

S46. Ans.(a)
Sol. =@ & e TH THE 2 -

64 + 38 =102
102 +57 =159
159 +76 =235
235+95=330
330+ 114 =444

S47. Ans.(b)
Sol.

THaR H

cfaatt iR et garT v @y Befiex fe 1w 3R &1 g wEam = 720 X - = 144
cfaalt arr f3efiar favw 21w 3iTST 1 &el HEAN = 540 X — = 108

SIACT Z@RT Beliat T 71T 315 & ol TEAT = 144 — 108 = 36

3 UaR, gERl & forw
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&= et offx wifiel gt
T ST Ry e ST & | fpu i offdR &Y
oo HE Td TEn T EE
T¥aR 144 108 26
AhdX 108 54 54
UHER 288 243 45
IaaR 180 135 45

HHAR &I FHer g@rT By fe e 3SR # Fo 7% = 2% 108 = 135

HAaR 3R AR 1 SidAer @R fSelar v a1 ST T dor T = 95x 2 =
190
HaeldR &1 Fdel @ f3efay fane are 37T & et Tear = 190-135=55

$48. Ans.(e)
Sol.

AR BF

efaafr 3 S ganT ves ary foefiar e a1e 3SR T Fvel FEar = 720 X - = 144
cfaalr ganr ey e aTe 3SR &1 o §&am = 540 X —— = 108

SHET ZarT f3eilay hT 91T 3iST T For TEAT = 144 — 108 = 36

3T YR, gl & forw

ool et offiy Aie gy
A sy | oty | st e e
i@ fru o SR 9t | fopu e oy +t
o T @ T g
TFaR 144 108 36
TEHAN 108 54 54
UHaR 288 243 45
MCEIRS 180 135 45
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ITRET ST [EATE I Tk 9T AT g7 Re e 3 0 A3 it et gt
= 36+45 =81
3mfive gfderd = ——= x 100 = 25%

$49. Ans.(a)
Sol.

TEEAR HY

efaat 3R S garT ves Ay f3efiar e a1w 3SR T Frel TEAT = 720 X S-= 144
efaalt garr ey fae are 3SR 1 For @& = 540 x = =108

ST ZarT fEeliay T 91T 35T T Fol AT = 144 — 108 = 36

34T 9K, IRl & forw

= feift ofik wirdiet g
ey | Rt iy | sivel v e
. fre e aiSRi #t | e Iw ofi SR
A Fa G| Td H@T
TFAR 144 108 36
FPAR 108 54 54
UHaR 288 243 45
IR 180 135 45

sfse FaX = 135 x§—45><§
=54 —20 =34

$50. Ans.(c)
Sol.

TRAR @

cfaaft 3iR FAdter qar va we Befier e 21w 3SR &7 gt TEa = 720 X - = 144
efaefr garr feefiar frw are 3it &1 Fel F&AT = 540 x S-= 108

SHET ZarT fEeiaR fhT AT SIS T HoT WEAT = 144 - 108 = 36

I 9FR, gER1 & ferw
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e feft ofty wrret gy
. frg T S &t | forg g HTRT #
P P wEm T HET
AR 144 108 36
Ehar 108 54 54
LRI 288 243 45
HEEIH 180 135 45
AT a1 et siie rer g v ary feftax forn 0 siie< &t o |t
= 288-38=250
HIHATY 3T TEAT I ATHT g7 fefta v 10 sifew it o |qer
=80x2=160

AT 1 fEasit ofi AT g fRtaw oy T e &l et JeaT FHLT: 1:4 F AqITd H §
FHTY ITH JEET 1 THET a1 fSefia [0 T (S sl Fief H&AT & 1 § Fls aredias <el dgl &
AT, RgTa Aal (AT ST 9ahdT 8l

$51. Ans.(c)
Sol.

TFER &

efaaft 3R SieT qarT veh ar fefiay & arw 3SR T Frel T = 720 X —— = 144
efaelt ganr Belir e aTe SIS &1 Fer 6% = 540 X —- = 108

SIHET 2@ fEellat fhe 1T 37757 T o FEAT = 144 — 108 = 36

3T YR, gE’l & feru

= it ofik Arfel g1
ﬁ,_qli'i'ﬂq'aﬂml?m.aﬁ‘ forft grr feeftar | SifeY g feeftae
Er fFume st =t | fore g oS &t
o Eakitel T HET
TeaR 144 108 36
PO 108 54 54
IR 288 243 45
NCEIR 180 135 45
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AT i Taame & fRasft grr fReftaw o o it &t e s
=108 + 135 = 243

SERATY 3T STTRETe &l e g1 feefiay fohT T e T et deaT
= 54+45 = 99

g IO = 243:99=27:11

S$52. Ans.(e)
Sol.

IFEAR H

efaat 3R S garT v ay f3efiar e 1w 3T T Frel TEAT = 720 X S-= 144
efaal ganr ey fae are 3SR &1 For W = 540 X —— = 108

ST Zar fEeliay T 91T 30ST T For AT = 144 — 108 = 36

34T 9K, IR & feiv

= et ofiy Sfel grn
%Eli'i"ai* I?E".ﬂaﬁ‘ et g fectar | et g feeftar
e SIS fruTm et # | fre g ot A
S Fd @ Fd HE
THaR 144 108 36
HehdI¥ 108 54 54
ar 288 243 45
MELIES 180 135 45

IEAR 1 1l h1 RIvre A il gaRT fSehiat fohw aTe FH7E ol Frel HEAT= 108 X — = 45
EAR 1 1 1 I A AT gaRT f3ellar e aTe 35T T ool T = — X 36 = 9
rsfise ufderd =22 x 100 = 20%

180

$53. Ans.(b)
Sol.

AFxfaT

frATET 13 ST3eelS f&U 1T Wi faieh aTlet = 65 X = = 25
ferATET 1 3 ST3aeNS faU 1T 3T ferar aTlet = 65 X — = 40

frATET 2 3 ST3aeIS & aTT FIeiae aMel = 80 X = = 30
ferATET 2 3 ST3aeNS fa aTw 3T foie aTet = 80 X = = 50
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B& forr

fEraTéT 1 7 sT3eTells fovw are AR (e aTmel = 55 X — = 25
fATET 1 3 ST3aTeNS fahw aTT 3T felah a1l = 55 X = = 30
faTéT 2 7 ST3eTells fow are W e a1l = 90 X = = 36
fAHATET 2 3 ST3TeNS T30 1T 3T folah a1l = 90 X = = 54

e T ITa=30:30 = 1:1

S$54. Ans.(e)
Sol.

Axfaw

fHTEY 1 # ST3eTells fohw aT Hieh o aet = 65 X = = 25
fHTEY 1 3 ST3eTells fohw aTe 3Mefaish 311l = 65 X = = 40
fAHTEY 2 # ST3eTells fohw aTe Hith o aMet = 80 x = = 30
faaET 2 7 sT3aTelts fahw 3w 3merfaes 71me = 80 ><§= 50
B& forw

foraTET 1 7 ST3eTeils fohw aTe Fiepician amtel = 55 X = = 25
faaEr 1 7 sT3etelts fahw arw smerfaes amet = 55 xﬁ =30
foraTéT 2 4 sT3eTeils fobw aTe AR fcia amtel = 90 x = = 36
faTEY 2 A ST3eTeTs febw aTe 3imegfeien ammel = 90 x = = 54

fAATET 1 # C garT si3aells fd a0 &el et = > x 30 = 48
fAATET 1 7 C €@rT si3aells T a0 ARl amel = —— x 25 = 20

faAET 1 A C g@rT si3aieils T a1w 3rfee amt = 48 - 20 = 28
3isfse AR = 30 - 28 =2

$55. Ans.(d)
Sol.

A forT

fArATET 1 A ST3eTels fehw aTe FRepfcien amtel = 65 X = = 25
fAATEY 1 3 ST3aTells fohe aTe JTefetens ammel = 65 X — = 40

ot 2 4 s13erells fohe aTe Fesfcien a1tel = 80 X = = 30
fraATEY 2 ¥ ST3eTells fohw aTw Jmefeies 31Tl = 80 X = = 50
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B& forw

FErATEY 1 3 ST3eTeits faw a1 WIEHicia ool = 55 X — = 25
fEraATeY 1 ST3eTeits faw a1 FTefeldh allel = 55 X = = 30
eIl 2 7 STaeTells faw aTe Wit e ael = 90 X - = 36
feraTg 2 3 sT3erells febw T S feleh Aot = 90 x = = 54

foaTer 3 # A ZaRT S13eels fhU ¢ &l aMe = 2 x 11 = 55
fAATEr 3 & A TaRT 5T3ells fohT 7T Fel HERidd el = 24 x 2 — 25 = 23
fa#ATEr 3 & A GaRT s3aals 6T aIw smyfes ame = 55-23 = 32

sfee ufeerd = E X 100 = 35.55% ~ 36%

$56. Ans.(a)
Sol.

A% T

FrTET 1 7 ST3eTells favw aTe wiefoles amet = 65 X = = 25
FEATEY 1 71 sT3aT1TS fohe 37w JiTegfeter et = 65 X = = 40

faTeY 2 7 sT3aTe1S fahe aTe A fole oMot = 80 x = = 30

ferATEY 2 2 ST3eTelS o a1 3iTefoteh amtet = 80 X = = 50

B faw

FErTEY 1 # ST3eTelts fow aTe Hieasfolan aMet = 55 x = = 25
ferATEY 1 81 sT3eTelTs fahe ae 3irefeles et = 55 X = = 30
fermTEY 2 # ST3eTels favw aTe Aol amet = 90 x = = 36
ferATEY 2 A sT3eTlS fohw aTe 3 fere aimel = 90 X = = 54

faamgr 1 3R f3#AEr 2 A B g@nT saels e av 3iga smgfas e

30+54
= 2 = 472

HASE Hay = 42-30=12
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$57. Ans.(e)
Sol.

AxfaT

fErATET 1 3 ST3eTelS féU aTT AR foieh a1let = 65 X = = 25
fAATEY 1 37 ST3eTels e 1w 3meyfaes amet = 65 x% = 40

fraATEY 2  ST3eTeNs o 1T e fae a1 = 80 X = = 30
frATET 2 3 ST3eNS & aTT 3T fole a1let = 80 X = = 50

B & forw

fTET 1 7 ST3etells fRe aTT WA aTlel = 55 X = = 25
frATET 1 3 ST3eNS faU 1T 3T ferah aTlet = 55 X — = 30
ferATET 2  ST3aTelS fahv aTT ATl aMlel = 90 X = = 36
ﬁﬂﬁzﬁmﬁmﬁqﬁamﬂnx%: 54
ATQ,

X4+8+X—-5=80+3

2X =80
X =40

$58. Ans.(b)
Sol.

A%

ferATET 1 3 ST3eTelS fahT 1T W foieh aTlel = 65 X = = 25
frATET 1 3 ST3aeNS faU 1T 3T ferah aTlet = 65 X — = 40
frATET 2 3 ST3aeIS & aTT Fiegiae el = 80 X = = 30
fATEY 2 37 ST3eTels e 1w 3merfaes amet = 80 ><§= 50
B& AT

ferATET 1 3 ST3eTelTS f&U 1T AR foieh a1let = 55 X = = 25
fATEY 1 37 ST3eTels e 1w 3mefaes amet = 55 xﬁ =30
ferATEY 2 # ST3eTelS ot 1T Tl a1l = 90 X = = 36
frATET 2 3 ST3eNS fau 1w 3T folah el = 90 X = = 54

st wfgea = E'“E";” % 100 = 40%
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$59. Ans.(d)
Sol.

1565
—_— = —
" + 32 = 169-7

15+32=169-7
?7=122

$60. Ans.(a)

Sol.
3x16+4x23=100+7
48 +92 =100 +?

?7=40

S$61. Ans.(a)
Sol.

V1600 x 22=7

100
4X64=7
? =256

$62. Ans.(e)
Sol.

B8t w21 =521
42

656 +7 = 1042
7 =386

$63. Ans.(a)
Sol.

942 -2 =2 510
25

942 —33 =7+ 102
7 =807

S$64. Ans.(d)

Sol.
208 % Ez?
16 13

16 x14="7
7=224

ALL EXAMS,
ONE SUBSCRIPTION.

ol0
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$65. Ans.(b)
Sol. % B H A= il HEAT = 36
THA A ST B H ASHI il HEAT FT AT = Thed A 3 C § ASHI ohl T&AT HT 3(a<

%l CH Tl A Y FATRT A+ &

ERIE L

TR T Aq¥ (AT 0 o1 3 31|
B-A=C-A

B = C (=% # form)

=TT, 7S ¥ B § @2 = 36

qr &5 C H =+ = 36

el C H ASThAT 1 §&4T = 56- 36 = 20
qF gH A g 1

5 A, B, C & AT 4 i1 FHTIA 0TS &

Tl B H A=At = 16

Tl A W AT = 12

el B H BTAT T Fof §EAT = A + AT = 36 + 16 = 52
TAATASH =40 -12=28

A A H AEHI I AT = 28

$66. Ans.(d)
Sol. ¥ B # =i =l §&4T = 36

T A 3T B H TSI o0l H&AT T AL = TheA A 3T C H TSI il H&AT HT (<

el C H T A § FATRT AS &

TA,

TR T ¥ (AT 0 o7 o AT
B-A=C-A

B = C (=i & o)

TH(U, T(S ¥l B § &% = 36

T ¥ C H =+ = 36

w5 C H At i §&aT = 56- 36 = 20
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qT ZH AT g T

T A, B, C H Tl 4 T FHTIT 0 5l

o B H A=t = 16

T A | A=At = 12

Tl B H BTAT 1 Fef §EAT = A + AT = 36 + 16 = 52
TFAAHTEHF=40-12=28

A9 AT = 12+16+20=48

$67. Ans.(c)
Sol. A 3T B it &79aT T SquTd = 3 : 2 (A[H A T 90% FTd T FIA § 7 T80T = B T 60% FTd T

FLA | T )
37cl:, ST B = 6 X 5 = 30 FH13
Hﬂﬁﬁtmzéxaﬂx§=5ﬁﬂ

$68. Ans.(d)
Sol.
ATQ,
(P +1000) X —= — P x — =1300
100 100
30P-10P _,0nn
100
20P = 100000

P = 5000 921

$69. Ans.(a)
Sol. ATAT A 3T B T [Haer FHeT: 3x ¥99 ¥ 5x ¥IT ¢

A, B 31T C T AT FTATHLOT ST = 36x: 60x: 90x=6:10: 15

H:, {3fIsE 39 = 6200 x% = 1200 Rs

$70. Ans.(b)
Sol.

ATAT $TAT hT 3117 = 100x

100x % = x 20240 _ 12000
100 100

% = 480
3cT:, {1AT T ATRGS dded = 48000 T9L
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$71. Ans.(a)
Sol.

AT 3107 oiSeh AT TS fhall eh! T/l = n

ATQ,
300-n _ 280

120-n 100

1500 - 5n=1680—-14n
Ox =180

x=20

F¥HSE 3TT=300-20+120-20 = 380

S$72. Ans.(d)
Sol. ATAT ST T AGTS AT AHFK 0T T o LT o0l AaTe X' THI g

ATQ, 70x = 1400
x =20

mﬁnt&?lam—c»r:%x 24 % 20 = 240 T3 THT

$73. Ans.(a)

Sol.

2 2o 540
5 5
4x + 3y = 2700 (i)

dATx+y =775

(i) 3R (i) A gA ICA gl &
x =375 3Ry =400

S$74. Ans.(d)
Sol.

AT I 1 6 Hed = 100x T9I
3T, ] 31 31Tl Hed = 100x X — = 130x TG
o] &1 faehd 77 = 130x X = = 117x

ATQ, 117%— 100x = 204
x=12

Fefioe fasha e = === = 1320 T

1
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$75. Ans.(d)

Sol. FTAT 9T7q ST § AT i T ST &TT ¥ T wmer: 'x' foheft /et ofiw 'y ol /eieT

ATQ 22 -9 x 2

x—y x+y
2x—2y=12x+ 1.2y
0.8x= 3.2y
x:y=4:1

HIdT x = 4a 3ﬂT¥= a

#RT & 3Tkl 1Tl = 5a
AT &IRT & Aidhel 17 = 32
sgfelT,2a=6

a=3
N el & =1 T 31fd = x = 4a= 12 frd/ger

$76. Ans.(c)
Sol.

AT A, B, CHhl I HHA: S, A, PAT G|

A+5=2P
5 4

4 s
S+A+P=37

Sxis
dx + Sx + =

37
=3

AFTTIART G =4x=4x 3=1299

$77. Ans.(b)
Sol.

RT3tk THAOT 3 g2 3IR Tefl &1 3e]aTel = (112 - 28) : 28 =3:1
Ry fRaroT & g T AT = (112 -28) - 32 X S+ 12 = 72 X
ORI fEA0T & 9l 61 AT = 28 - 32 X+ = 20 eX

Iafse o = ”:" % 100 = 260%
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$78. Ans.(a)
Sol.

AT ¢ A Fr a1fd 6x Hicy/dss ¢
ar e B &1 a1fg = 5x deydFs §
ATQ,

{5X+5:{]= 1205_:13D

il

X =02
i §9 === = 60 §&s

30-25

$79. Ans.(c)

Sol.

UG ol Sof GaRT TolT 31T §AY = 10 §¢

T ST E@RT fora I WA = 8 T

AT Sef &1t T AT o ol 1 gl 40x TShaT §
a’r,%ﬁ'ra?rﬁmﬁ: Ax TR/
q&flaﬂiﬁﬂ'lﬁ= Exﬁﬂﬁ'fﬁ?ﬂ

1 €52 3, TR 37 CERT T T T G = 4 R
- TG 6 Fof o I1G, Gledl ol ol [Felel 3 o131 ek THI
=1+ =58

saTelT, Gldl ol Felg 11:00 dat fHerl

$80. Ans.(a)

Sol.

METHF HF=90x 3 — 95 x 2 = 80
Mﬂxaﬁhﬁ X 80 = 96

9Ex2+804+96 366
efrse Hd = ————="-=915

49 |


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

*ﬁr

/I' est Prlme

ALL EXAMS,
ONE SUBSCRIPTION |

70,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
Previous Year 500%

ATTEMPT FREE MOCK NOW


https://applink.adda247.com/d/5zsmwiLHz7

